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BACHELOR OF SCIENCE
(GENERAL) (BSCG)
Term-End Examination
June, 2025

BZYCT-135 : PHYSIOLOGY AND

BIOCHEMISTRY

Time : 2 Hours Maximum Marks : 50

Note : Question No. 1 is compulsory. Attempt
any four questions from question Nos.
2to 7.

1. (a) Fill in the blanks with suitable words :
5x1=5

[6) I are known as body building
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(61 I 1s absorbed mainly in the
large intestine.
(111) ......... 1Is the type of sex
determination mechanism of birds.
(1iv) The chemicals that are released
outside the body of the animals into
the environment and act upon a
different individuals are .......... .
02 1s the non-protein organic
molecule that birds non-covalently
with apoenzyme.
(b) Match the following : 5x1=5
Column-I Coloumn-II
(A) Oxyhaemoglobin 1. Blood brain
barrier
(B) White blood cell II. IV+IRV+
RV+ERV
(C) Total lung capacity III. Lungs
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(D) Astrocytes IV. Lympho-
cytes

(E) Lactic acid V. Anaerobic
pathway

2. (1)) What are carbohydrates ? Give one
example each for mono-, di- and

polysaccharides. 5

(11) Describe the exchange of respiratory

gases in the alveoli. 5

3. (1) With the help of a flowchart, explain

the mechanism of haemostasis. 7

(i1) Briefly explain the animal
groups based on their excretory

products. 3
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4. (1) Briefly discuss the role of dJuxta-
glomeruler Apparatus (JGA) 1in
mammalian kidney. 5

(11)) What i1s nerve impulse ? Distinguish
between @ membrane and action
potential. 5

5. (1) Enlist B-complex vitamins along with

their functions. 5

(11) Describe urea cycle. 5

6. (1) What are neurotransmitters ? Enlist
any four of them along with their

physiological effects. 5

(1) Elaborate, why cyclic AMP is referred

as secondary messenger. 5
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7. (1) Briefly explain HMP shunt. Write its

metabolic significance. 5

(1) Differentiate between Glycogenesis and

Glycogenolysis. 5
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Gii) ....... gfert w1 fom faior ggfa =
Teh YhR T
(v) 9 WEA S R & YRR & 9

Tern # fad @ ¥ iR fafv=

(@) f=fafed =1 98 fHam St : 5x1=5
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(B) voa @ &It II. IVHIRV+RV

+ERV

(C) = ®Hhel a9l 111 ®he

(D) TEMERE IV. fermmarse

(TTETRT)

(E) iferesh a7t V. e 9y
2. (1) SHEEEgE F T 2?2 HA-, TE- IR
YeAiFTEed F1 Th-Tsh SR e 5
(i) wfTewret (TfeaEe™) # vaed H6 & fafm
1 U HIFT | 5
3. (1) verg fod 1 weEd 9 dHefem

Toranfafy =1 wose HifsT | 7
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(i) ST TERI/ER P 3D IS SAR] & MER

R 99 | affd Sife | 3

4. () wWE & R H TRRrdHEeR  (TEEA)
TRed (JGA) ®f ofHep &1 949 | ==

HITSY | 5

(i) df>rert s RN § ? foeeht SIR e fava &

e 3R IqiEy | 5

5. (1) B-amwem foafmd &1 % w@ 9fed
HE’“E"@ ShITSIC | 5
(i) IR = 1 FUH HIFT | 5

6. (1) —HUGHy/dAHEER #1 § ? T § fh=i

TR & YATog HIT 3R 37 IRR ToRarcTsh
JUTEl ol SATET | 5
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Ifsher AMP 1 Tgdioeh Heviamgsh =i hal

~

ST &, ST HIfSTT | 5

(aWa

HMP 3 &1 Hferw auA ifelw| 39

ot

3UTY=r He b fafa |

TARRSHTTH 3R TARRSIHTATT 5 o9

ST Fq1LT | 5
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